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Quiz Date: 29t June 2020

Directions (1-5): Find the wrong number in the given series, according to given pattern:
Q1. 539, 566, 597, 636, 691, 780

(a) 691

(b) 780

(c) 566

(d) 539

(e) 636

Q2. 6, 14, 59, 299, 1799, 12599
(a) 14

(b) 299

(c) 1799

(d) 59

(e) 6

Q3. 7, 27, 237, 279, 783, 858
(a) 27
(b) 237
(c) 279
(d) 858
(e) 783

Q4. 37, 150, 306, 511, 763, 1062
(a) 150
(b) 1062
(c) 306
(d) 763
(e) 511

Q5. 4, 2, 3, 6 16, 70
(a) 6
(b) 2
(c)3
(d) 70
(e) 16

Directions (6- 15): In the following questions, two equations numbered I and II are given.
You have to solve both equations and give answer among the following options.

L.x*—5x+6=0
< —
oo LY —4y+4=0
(a)ifx>y
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(b)ifx<y
(q)ifx=y
(d)ifx<y
(e) x =y or relation cannot be established between x and y

L2x2 —7x+6=10
o7, 11 15y = 960

(a)ifx>y
(b)ifx<y
(q)ifx=y
(d)ifx<y
(e) x =y or relation cannot be established between x and
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L2 2 =\x

xvx x'..-'x

JILy* — 13y +36 =0

(a) ifx>y
(b)ifx<y
(0)ifxzy
(d)ifx<y
(e) x =y or relation cannot be established between x and y

.4x24+18x —-10=0

2 25
ILys——5=0
Qo. ys
(a)ifx>y
(b)ifx<y
(c)ifx=y
(d)ifx<y

(e) x =y or relation cannot be established between x and y
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. V343x + V169 =0
2 —

o10. 11-49y% — 182y +169 = 0

(a)ifx>y

(b)ifx<y

(0)ifx=y

(d)ifx<y

(e) x =y or relation cannot be established between x and y

L2x*-x-231=0
2

011 II. 2y + 43y + 231 =0

(a)ifx>y

(b)ifx=y

(0)ifx<y

(d)ifx<y

(e) if x =y or the relationship cannot be established.

I.55%x* -495x + 1100=0
2

Q12. I.5y“+10y-120=0

(a)ifx>y

(b)ifx=y

(q)ifx<y

(d)ifx<y

(e) if x =y or the relationship cannot be established.

[.9%x% -945x+243 =0

2
013. I. 45y° - 13.5y-486=0
(a)ifx>y
(b)ifx=y
(0)ifx<y
(d)ifx<y
(e) if x =y or the relationship cannot be established.

Lx*-87x-270=0
2

014, I.7y"-11y-18=0

(a)ifx>y

(b)ifx=y

(0)ifx<y

(d)ifx<y

(e) if x =y or the relationship cannot be established.
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Lx2—19x +84 =0
2— j—
o5 11 ¥* — 25y +156 = 0

(a)ifx>y
(b)ifx=y
(0)ifx<y
(d)ifx<y
(e) if x =y or the relationship cannot be established.

Solutions

S1. Ans.(b)
Sol.
Pattern of series is —

539 566 597 636 691 778
| Il Il Il Il
+27 +31 +39 +55 +87
[ | | Il |
+4 +8 +16 +32

Wrong number = 780
Right number — 691 + 87 =778

S2. Ans.(e)
Sol.
Pattern of series is —

14 59 299 1799 12599
IL IL I I |
x3+2 x4+3 x5+4 x6+5 x7+6

So wrong number = 6
Right number = 12—_2 =4

S3. Ans.(d)
Sol.
74 27 237 279 783 855

[ | Il | Il
+20 +210 +42 +504 +72

(N

5%-5 6°-6 7%-7 8%-8 9%2-9

Wrong number is —858
Right number = 783 + (9% - 9) = 855

S4. Ans.(a)
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Sol.
Pattern is —
37 306 511 763 1062
[ Al Al Al A
111 158 205 252 299
| Al Al Al A
47 47 47 47

Wrong number is — 150

S5. Ans.(d)

Sol.

Pattern is —

4 2 3 6 16 [69 ]
| A Al Al Al ’

x%+1 x%+2 x1+3  x2+44 x4+5

Wrong number = 70
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S6. Ans.(c)

Sol.
Lx*—5x+6=0
(x—3)x—-2)=0
=x=32
ILy?—4y+4=0
y=22

x=y

S7. Ans.(e)
Sol.
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L2x2 —7x+6=0

=2x?—4x—-3x+6=0
=2 (2x—3)(x—-2)=0

=X = 2,;
IL y® = 64
y==12

No relation

S8. Ans.(d)
Sol.

Lx%=16
=x =44

ILy?—13y+36=0
= -4y -9=0
=y=49

y=x

S9. Ans.(e)

Sol.

I.4x* +18x—10=0
2x24+9x—-5=0

=2x24+10x—x—-5=0

=(x+5)2x—1)=0
1

ILys—2=0
¥3

y? =125

=y=15

$10. Ans.(b)
Sol.

L7x+13 =0

= ¥ = ——
7

IL(7y —13)2 =0
13
:\ J_r —_

7
V=X

S11. Ans.(b)
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Sol.
L.2x"-x-231=0
= 2x% - 22x +21x-231=0
=2x(x-11)+21(x-11)=0
= (x-11)(2x+21)=0
=>x=11,—
IL 2y* + 43y + 231 =0
= 2y* + 22y + 21y +231=0
=2y(y+11)+21(y+11)=0
= (y+11)(2y +21) =0

1

Sy=-11,—
X=y
SBI CLERK MAINS
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Starts March 20, 2020
S12. Ans.(b)
Sol.

1. 55%% - 495x + 1100=0
x?—9x+20=0
=x°-5x-4x+20=0
= (x-5)(x-4)=0
=x=54

IL 5y° + 10y - 120=10
=y*+2y-24=0
=yi+6y-4y-24=0
=(y+6)(y-4)=0
=y=4-6

X2y

S13. Ans.(e)
Sol.
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.Ox* -94.5x + 243 =10
=x*-105x+27=0
=X -6X-45x+27=0
= (x-6)(x-45)=0
=x=6(45

IL 4.5y* - 13.5y - 486 =0
=y*-3y-108=0
=y?-12y+9y-108=0
=(y-12)(y+9)=0
=y=12,-19

No relation

S14. Ans.(e)
Sol.

Lx*-87x-270=0
=x-90x+3x-270=0
=2x(x-90)+3(x-90)=0
= (x-90)(x+3)=0

= x=190,-3

IL7y* - 11y-18=0

= 7y* - 18y + 7y - 18 =0
=y(7y-18)+1(7y-18)=0

= (7y-18) (y+1)=0
18
7
No relation

=y=-1,

S15. Ans.(d)
Sol.

Lx*-19x+84=0

=x -12x-7x+84=0
=(x-12)(x-7)=0
=x=12,7
ILy*-25y+156=0
=y*-13y-12y+156=0
=(y-13)(y-12)=0
=y=13,12

y2Xx
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